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Q.1Explain the factors responsible for declining gender ratio (Female Foeticide) in India.

Or

Q.1 Discuss the services/ Facilities available to handicapped person in India,

Q.2 Explain the causes and consequences of communalism.

Or

Q.2 Explain the inequalities geflerated by’ caste system and measures to combat inequality.

Q.3 State the fundamental duties of Indian citizen with its importance.

Or

Q.3 Explain the basic features of Indian constitution.

Q.4 Write short notes on :- (Any 5)

a) Rural characteristics.

b) Diversity as differences.

¢) Women in Politics. O
d) Rural local self- government.

¢) Characteristics of Indian culture.

f) Features of Political parties in India. O/

g) Women and mass media.
h) Peace and communal harmony.

Q.5. A) Fill in the blanks with correct option; - \S\ S
a) The is the first citizen of the city. . /
(Mayor, President, Governor) Q

b) The follows the teaching of religious teacher Zoroasdter.
(Judaism, Christian, Zoroastrians)

¢) The constitution of India confers citizenship.
(No, Single, Dual)

d) was the first state to establish Panchayati Raj in India.
(Rajasthan, Maharashtra, Gujrat)

¢) Dowry harassment is one type of Violence against women.
{Criminal, Domestic, Social)
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Q.5 B) State whether the following statement true or faise: - 05
a) Dyslexia is type of learning disability.
b) Urban society is heterogeneous in nature.
¢) Communalism is opposed to secularism.
d) The constitution of India is rigid.
e€) The Mayor is elected for a term of five years.

Q.5 C) Match the following: - 05
Group A Group B
1 Gram RBénchayat a.  Wolfare state
2 Socialist . b. Village level
3 Visually handicapped c. Nagas .
4 Nagaland d. Southern India
5 Dravidian family languages e. Glaucoma

2
9,
O
‘Q

Y.  iii10]

3




